Chapter 3, Section 2: Sign selection for Three Unit characters

@ EXERCISE for Three Units characters containing ‘‘grouped signs’’ which integrate into a
First Unit or a Second Unit.

* . o . .. .
[The characters which do not match the criteria of containing “grouped signs”
integrating into a First Unit or a Second Unit when in Guobiao code, have their

code written in italics in the last column.]

os . * . .
Traditional Write English Answers Characters in Guobiao
Traditional ¥ code environment

=2 short name for SRNO B;//L( SKNO
a Europe NN XA~ N

E"i injure, stike SR HN E ]X& SKHNE

characters | codes & signs

CIE WX X/ X
abundant, UJ M RT —+= 10J

monumental 1 ++

regret Il) IXRE@ same in Guobiao code

€ Remark 1: Signs under shapes like: A asin N\, A, / \\. et

I Signs located just under a kind of “Chinese hat” character shape as illustrated
above, are not deemed to make a “‘special group’ configuration, and therefore do
not integrate, regardless of whether or not signs are located under them.

Example: yp A -[1L (OMRT)

First Unit : A\ (O)
K— with “Chinese hat shape”
Third Unit: é\
= (R) Second Unit: — (M)
Bl (B) —=
14 (D

The sign — (M) does not integrate with A\ (O)

...even though they seem quite “grouped” together
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